[ Efficiency vs vertpos |
- 05

©0.4BF oo RIS SITRTPIRE
g F :
o 0.4:— """""""""""" e
(&) F .
G035 -t R L LR
s F ;
R e R A
0,25k -+ -eeeseiensneneene I TTIEE
0.2 oo fopeeepeeees 2 EE £ T
0.45F <+t fff - 30 (OO0 | SEPRRS P
- +* | e
0.4} 4-% +-fit R'E S S
E Ut 1 + 1t
0.055 Ff-ofhefieref g e
AE bbbl v
o+
T
o
11» -— e o e i - e = = = = = = = -
0.950

1072 10 1 10 0?
TP vertr (cr%)

—=— DQM_V0001_R000000001__Global__mkFit100Timeo_ RECO
Efficiend —— pom_v0001_R000000001__Global__mkFit100Time_ RECO

~ 0.5
20.45
n

> 04
>

2
$0.35
0.3

0.25]

..............................................

ettici

(o152 AR S S R SR
0.15 : R S 2
0.1 1 N Faennns 3 )

0.05
Vel

Ratio

[y

o

13
oS
S

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
@
o
£0.05
5}
0.04
0.03
0.02

0.0

1.0

Ratio

4
T

068 6 -4 2 0 2 4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


